a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
W

£
=
[ 2 10°
i o
4 [$]
i 102
10%H
_ i i o
1.5H il ) IS
1 11T | =
BT o
O.E: 1 1
1 Sum of track p e\l])0 1 Sum of track P, (Ge\l])0 1 10
== Vﬁﬁﬁi—ﬁﬁﬁﬁﬁﬁﬁﬁﬁi R
= B A ‘E BuERR, reco
3 — T
10° = =107
L. 3 ......... 5
il B Q
L o 3]
b S IR EE . g
- >
o
3]
I 2
(4]
| 1S
S
=
°
10%[ ©
“F i)
E I
1.5H a4
,
1 " 1

10?

1.5]

Sum of track p_ (Ge\ll)0

0(0 z) (M)

=
o
W

102

Sum of track p_ (Ge\l])0

: 2 : 3
S%Pn of trac%(opT (Ge\;‘)04



	Contents
	Page 1


